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1. What do we know about Bob?
A. Bob is taking photos.
B. Bob has many cameras.
C. Bob is crazy.
2. What does the girl mean?
A. She is preparing for the test right now.
B. She has got ready for the test now.
C. She will learn the words later.
3. What does the woman have to do?
A. She has to take the dictionary home.
B. She has to look up the words in the library.
C. She has to return the dictionary in a few days.
4. What does the woman’s boss look like?

A B. C.

5. When is the man going to see a doctor?
A. This Saturday.
B. Tomorrow.
C. Today.
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6. What do you think the woman is?

A. A teacher. B. A student. C. A part-time student.
7. What did the woman do during her vacation?

A. She did a part-time job.

B. She went on a trip.

C. She took lessons at a summer school.

WreE 7 e, EEE 8 ~9 M,
8. What are they talking about?

A. New Year. B. Christmas. C. Thanksgiving.

9. What's the relationship between the two speakers?
A. They are cousins.
B. They are husband and wife.

C. They are brother and sister.

WreE 8 Bare, mEE 10~11 /&,
10. Which of the statements is true?
A. The two speakers are strangers.
B. The bank has already closed.
C. The man’s looking for a restaurant.
11. What does the man want to do at the bank?
A. To draw some money.
B. To change some money.

C. To put in some money.

Wrse o mati, EES 12~ 14 |,

12. What program does the man want to watch?
A. News. B. Neighbors. C. Nothing in particular.
: 2 . 13. Which is true according to the conversation?

A. The man hates shopping.
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B. The man doesn’t like the dog.
C. The man is lazy.
14. Why doesn’t the man go out for a walk?
A. He is tired.
B. He’s unhappy

C. He doesn’t like outdoor activities.

WrsE 10 RPPE, BIESE 15 ~ 17 &,
15. What shortage is the speaker talking about?
A. Drinking water.
B. Specialists.
C. Electricity.
16. What is an expert system?
A. It's a group of experis formed by doctors and engineers.
B. It's a special kind of program for computers.
C. It's a system for experis to use computers freely.
17. What can an expert system do according to the speaker?

A. Treat and take care of the patients.

B. Process dirty water in a river for drinking.

C. Give advice to a village doctor on curing a disease.

Wreg 11 Bbrad, &5 18 ~20 @,
18. Who is Harold Smith?
A. The editor.
B. The director.
C. The journalism professor.
19. How many days a week is “The Voice™ printed?
A. One. B. Five. C. Seven.
20. What is most likely the best reason for doing the job?
A. To do it for fun.
B. To make a lot of money.

C. To gel experience in journalism.
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1. What do you know about the man?
A. He formed a habit of doing some running in college.
B. He is a sportsman.
C. He does exercise every moming.
2. What does the woman mean?
A. Someone the man knows cooked it.
B. The dish is not delicious.
C. A guest cooked it.
3. Where does the conversation take place?
A. At an airport.
B. In a post office.
C. In a cafe.
4. How does the woman feel?
A. Discouraged.
B. Satisfied.
C. Sad.
5. What does the woman mean?
A. She always listens to the weather report.
B. Weather forecast isn’t correct here.

C. The weather changes often.
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6. Who went to the party?
A. The woman.
B. The man.
C. Both of them.
7. Which of the following is true?
A. The man enjoyed the party a lot.
B. The woman enjoyed the party and stayed there for a long time.
C. The woman didn’t enjoy the party very much, so she left early.

WrsE 7 BRbret, mESE 8 ~9 M,
8. Who will go camping this weekend?
A. The man.

B. The woman.
C. Both of them.
9. What does the woman enjoy?
A. Taking buses.
B. Camping at weekends.

C. Sleeping under the stars.

Wreg 8 BEMP e, EI&ESF 10~11 &,
10. How much a month can she make if she takes the job?
A. § 175. B. § 700. C. % 600.
11. What can we know from the dialogue?
A. The daughter has taken her father’s advice.
B. The daughter will not take the job although she is jobless.
C. The father would like her to take the job.

g9 BH R EIEEI12~14 8,
12. Why doesn’t the man buy the tickets downstairs?
A. Because they are expensive.
B. Because the seats are too close to the stage.
C. Because there aren’t any seats left.
13. How much does the man pay for the tickets?
A. § 320. B. $ 350. C. $ 400,
14. Which of the following is true?




B S E BN DRSS Z

A. The play will be on December 12,
B. The play will last 140 minutes.

C. Different seats cost differently.

WTeE 10 B, @& SR 15 ~ 17 &,

15.

Whom did the driver give a lifl to?
A. A student.
B. A driver.

C. A road worker.

. Where did the boy want 1o go?

A. Montreal.
B. Toronto.
C. Windsor.

. What does the writer think of the student?

A. Careful.
B. Lazy.

C. Clever.

W8 11 B, & 18 ~20 &,

18.

20,

What kind of name is St. Louis?
A. A Spanish name.
B. A French name.
C. An Indian Name.

. What does the speaker try to tell people?

A. A lot of ¢ity names are Spanish names.

B. Indians have too many different names.

C. It’s interesting to study eily names.

What does the speaker lead us to believe?

A. Indians liked to name big cities.

B. Our cities were all named by the same people.

C. In a way, names can tell us the history of our country.
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1. What do the young people think of the new leader?
A. He is good.
B. He is bad.
C. He is just so-so.
2. What is the teacher’s name?
A. Mrs. Pond.
B. Miss Pond.
C. Miss Bond.
3. What is the original price for the T-shirt?
A. 80 dollars.
B. 50 dollars.
C. 40 dollars.

4. What's the woman busy with?

A. Preparing for a speech.
B. Writing a composition.
C. Organizing a discussion.
5. What are computers mostly used for according to the conversation?
A. Providing information for doctors.
B. Keeping patienls’ records.

C. Developing medicine uses.
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6. Wlat can we learn about the exam?
A. Not very easy.
B. Shorer than before,
C. Poorly set.

7. Why didn’t the girl do well?
A. She didn't work hard enough.
B. She was not good at the subject.

C. She was careless,

WrsE 7 Bdrel, BIEE 8 ~9 &,

8. What does the person try to tell people?
A. How to cook food.
B. How to press the buttons.
C. How to use the microwave.

9. How can vou open the door?

A. By pressing the round button.
B. By setting the timer,

C. It opens by itself.

WTsE 8 BT El, EEE 10~ 11 &,
10. 1If possible, what will they do this weekend?
A. Go skating.
B. Go skiing.
C. Go swimming.
I1. How long will the weather be like this?
A. 2 months.
B. 3 months.

C. 4 months.

WS 9 BRpte EEE 12~ 14 |,
12. What did the man buy at last?
A. A pen and a pencil.
B. Four pens.
C. Four pen sets.

13. What did the woman warn him not to do?
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A. Not to buy gifts for a Japanese.
B. Not to buy 4 of anything for a Japanese.
C. Not to buy pen sets for a Japanese.
14. What can we learn from the dialogue?
A. The man will go to Japan on business.
B. The man will live with a Japanese family for some time.

C. The man will go to Japan to see his relatives.

WrsE 10 Eedrist, mE&SE 15 ~17 @,
15. What's the name of the computer game?
A. City 2010. B. City 2001. C. City 2100.
16. What's the address of the shop?
A. 29 Hunter Road.
B. 29 Walker Street.
C. 29 Marsden Street.
17. Which is the last day you can get a free game?
A. Monday. B. Thursday. C. Friday.

WrEE 11 R, @ESE 18 - 20 &,
18. What are the English people like in most people’s opinion?
A. Impolite.
B. Talkative.
C. Cold.
19. Why didn’t the woman go out of the house again?
A. Because she had told the driver that she wouldn't be back.
B. Because she had forgotten about the driver.
C. Because she didnt want to pay the taxi driver,
20. Why did the driver wait for the woman?
A. Because they were good friends.
B. Because he wanted to see the woman again.

C. Because the woman had left her dog with him.
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1. Who telephoned the man?
A. Mr White.
B. Mr Brown.
C. Miss Grey.

2. How does the man feel about traveling hy bike?

A. Dangerous.
B. Nice.
'C. Tiring.
3. Why does the man want a telescope?
A. To study the stars with his brother.
B. To give it to his brother.
C. To give it to the woman.
4. What's the relationship between the two speakers?
A. Shop assistant and customer.
B. Mailman and customer.
C. Waiter and customer.
5. What's the man’s attitude towards giving up smoking?
A. He's serious about it.
B. He doesn’t care ahout it.

C. He's determined.
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6. Where does the dialogue take place?
A. At a restaurant.
B. At a friend’s house.
C. At a hotel.

7. What can we learn about the man?
A. The man is alone now.
B. The man doesn’t like the hotel.

C. The man likes traveling.

W7 BMEL, EEER~9 M,
8. Who is the woman?
A. A hoss. B. A waitress.
9. What is not allowed during office hours?
A. Meeting old friends.
B. Making personal phone calls.
C. Chatting over the phone.

Wreg 8 BATE, EIZE 10~ 11 &,
10. What will happen next?
A. The man will open the orange juice.
B. The man will lay the table.
C. They will begin 10 have their lunch.
11. What can we learn from the conversation?
A. They often have lunch together.
B. They are probably in the office.

C. A newcomer.

C. They will have bread, vegetables and orange juice for lunch.

WreE o EEiel, mEE 12~ 14 8,
12. On which {loor dees Linda live?
A. The 70th. B. The 17th.

C. The 7th.

13. What's the relationship between Linda and the woman?

A. Friends.
B. Teacher and student.

C. Neighbours,

A

14, What was the real purpose for Linda to come to the woman’s flat?
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A. To ask for help.
B. To borrow a pan.

C. To join a dance party.

Wres 10 Bdtdt, EEE 15 ~17 &8,

15. Where is the man calling?
A. At the bus station.
B. On the highway.
C. At the woman’s home.

16. What does the woman tell the man 1o do?
A. To repair the car.
B. To take the lady to hospital.
C. To keep the lady warm and calm.

17. What can we learn from the conversation?
A. The man and the lady in the car are strangers.
B. The man is not sure where they are.

C. The man is too nervous to help the lady.

e 11 bR, BEIEE 18 ~20 &,

18. How many different kinds of music shall be broadeast?

A. Only one.
B. Two.
C. Three.

19. What kind of feeling does the music broadcast express?
A. Happiness.
B. Sadness.
C. Excitement.
20. Where does the music breadcast come from?
A. India only.
B. Western countries only.

C. Different parts of the world.



